0(=6 jet)/a(inclusive)

Ratio to ALEPH

10

1072

1073

10

0.5

_.133. Ge\/ ee

| y*/Z (Hladrqnic)l_

Rivet 3.1.10, = 2.8M events

| I I I T I T T I T I T I T I |
=ai et LEEE EEEE EERE - Ry =
E i ==ﬁ===: —
— ﬁtt:ﬁ -
= B, 3
— LN -
~ m  ALEPH 3
C --5-- Herwig++ 2.7.1 default —
~  --f3-- Herwig 7.2.1 default B
- | | | | [ | | | | | | | [ [
: | T T T T | T T T T | T T T T :
— O -]
— - el _
B E"'E—/'/ ey .
B E—:ZH:::@—”@“_ ™~ /’6 7
B—B—8—a—g—% Som
H---O
" | " 1 1 1 1 " | " 1 1 1 1 | " 1 1 " 1 1
_5 4 -3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


